TABELA POSZERZEN

:3%) Szerokoé SZ’erOk?éé odl. Powierzchnia
Kilometraz = $rednia mz
3 m -~ - —
1. 2. 4. 6. 7
o+| 650 | 0.00 0,00
0,38 43,50 16,31
o+| 50,00 | 43.50 0.75
0,38 50,00 18,75
0+| 100,00 | 50,00 0,00
0,00 50,00 0,00
o+| 150,00 | 50.00 0,00
0,35 50,00 17,50
0+| 200,00 | 50,00 0,70
0,82 50,00 40,75
0+| 250,00 | 50,00 0.93
0,94 50,00 46,75
0+| 300,00 | 50,00 0,94
1,00 50,00 49,75
0+| 350,00 | 50,00 1,05
1,05 50,00 52,50
0+| 400,00 | 50,00 1,05
1,01 50,00 50,25
o+| 450,00 | 50.00 0.96
0,97 50,00 48,50
0+| 500,00 | 50,00 0,98
0,99 50,00 49,25
0+| 550,00 | 50,00 0,99
0,97 50,00 48,50
o+| 600,00 | 50.00 0,95
0,94 50,00 47,00
o+| 650,00 | 50.00 0.93
0,97 50,00 48,25
0+| 700,00 | 50,00 1,00
1,02 25,00 25,38
o+| 750,00 | 25.00 1,03
1,02 50,00 51,00
o+| 800,00 | 50.00 1,01
1,05 50,00 52,50
0+| 850,00 | 50,00 1,09
0,89 50,00 44,25
0+| 900,00 | 50,00 0,68
2,26 50,00 112,75
o+| 950,00 | 50.00 3.83
2,32 50,00 115,75
14| 0,00 | 50.00 0.80
0,89 50,00 44,50
1+ 5000 | 50.00 0,98
0,95 50,00 47,50
1+| 100,00 | 50,00 0.92
0,59 50,00 29,25
1+| 150,00 | 50,00 0.25
0,30 50,00 15,00
1+| 200,00 | 50,00 0,35
0,30 50,00 15,00
1+| 250,00 | 50,00 0.25
0,13 50,00 6,25
1+| 300,00 | 50,00 0,00
0,00 50,00 0,00
1+ 350,00 | 50,00 0,00
n <" zn nn g% 7%
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1+| 400,00 | 50,00 1,03
0,93 50,00 46,50
1+| 450,00 | 50,00 0,83
0,87 50,00 4325
1+| 500,00 | 50,00 0,90
0,95 50,00 4725
1+| 550,00 | 50,00 0,99
0,96 50,00 47,75
1+ 600,00 | 50,00 0,92
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